DOT PRODUCT WORKSHEET NAME /{/1/!

For the following problems find the dot product of the two vectors:

1. @=<35> and b=<-2,3> 2 E=<1,-7> and d=<-2,-4>
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For the following problems find the angle between the two given vectors: '

5 U=31—5 and ¥=-61-2] 6. ¥V=<-8-3> and w=<3,-8>
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For the following problems determine if the vectors are orthogonal (perpendicular): 1294
9. V=<-8,-3> and wW=<3-8> 10. ¥ =<0,-7> and W=<11,-2>
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For the following problems find the dot product of the vectors given their magnitude and the angle in

between the two vectors: ;7 —V— &= {}’%9[/[/71);9 N
13.If ||d@|| = 7,||bl| =8, and 6 = 155°
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1. 1f |Ell = 3, ||d]| = 11, and 6 = 65°
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15. If |8l = 5, ||f|| =7, and 6 = 102°
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For the following problems find the angle between the two vectors given their dot product:

17.1f 1|11 = 10, ||R|| =20, and g-F = -35 find 6
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18.If ||9|l = 12, [IW|| =6, and ¥ -W = 67 find 6
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